Chemistry I-Standard

Electron Configuration Problem Set
Write the correct orbital notation for the following elements:
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How many orbitals are half filled in the above elements:  N________  Mg_________ Ni_________

Which of the above elements has a 3p sublevel that is completely filled? _______________________
Do any of the elements have a completely filled 4s orbital?  If so, which one? ______________________

How many orbitals are completely filled for Ni?_______________________

How many sublevels are completely filled for Ni? ____________________

Which energy levels are completely filled for Ni? _____________________

What is the electron configuration for the elements listed below?


N:


Mg:


Ni:
Kr:
Write both the electron and noble gas configurations for the following elements:


Co:


K:

Li:  


Rb:

